
＝
（－４ａｂ）× ５ｃ

２ｂ

＝
（－６ａ）×（－６ａ）×（－２ｂ）

４ａ
＝
（－x）× （－x）× ６y

－２xy

＝
－４xy

８xy

＝（－４ａｂ） ×
２

ａ
× （－３ｂ）

＝ （ － ２ x y ２ ） ×
３

x y
× ４ x ＝

２ x２２２２ y

３
×

２ xy

６
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～～～～式式式式のののの計算計算計算計算～～～～１１１１ 式式式式のののの計算計算計算計算①①①①
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１ 次の計算をしなさい。

（１ （－６ｎ）×（－２ｍ）×２ｎ （２ （－４ａｂ）×５ｃ÷２ｂ） ）

＝（－６）×（－２）×２×ｍ×ｎ×ｎ

２４２４２４２４ｍｎｍｎｍｎｍｎ １０１０１０１０ａｃａｃａｃａｃ２２２２ －－－－

（３ （－６ａ） ÷４ａ×（－２ｂ） （４ （－χ） ×６ｙ÷（－２χｙ）） ）２ ２

－－－－１８１８１８１８ａｂ －ａｂ －ａｂ －ａｂ －３３３３χχχχ

（５）８χｙ ÷ （－４χｙ） （６ （－４ａｂ）÷ ａ×（－３ｂ））
１

２

２２２２－－－－２ ２４２ ２４２ ２４２ ２４ｂｂｂｂ

（７ （－２χｙ ）÷ χｙ×４χ （８） χ ｙ÷ χｙ） ２ ２１ ２ ２

３ ３ ６

－－－－２４２４２４２４χχχχｙｙｙｙ ２２２２χχχχ

２ ａ＝－３，ｂ＝ のとき，次の式の値を求めなさい。
１

２

（１）３（ａ＋２ｂ）－（ａ＋４ｂ） （２）１２ａｂ ÷３ｂ－２ａｂ２

＝３ａ＋６ｂ－ａ－４ｂ

＝２ａ＋２ｂ

－－－－５５５５ －－－－３３３３

２× （－３）＋２×
１

２

＝

＝２ａｂ

２ × （－３

１２ａｂ ２

３ｂ

） ×

－２ａｂ

１

２


